. 13. adcba

R_YESEER
. 1.AD 2. B 3.C 4.B 5. B 6. ABC 7~ AD 8. A
9. C 10. B 11. BD 12. BCD

nBL @

BL’w

14, (1) AW

(2)
A 4 B B
(3) ( BO

15, (104}).fi#: (1) F, =Bld —— (1) - 14y

I= —— (2) e 14 E=BdV —— (3) = 15y
R+7r
H V=V, M, fF=F,+f —— (4) H1 (1) " (4) 17,
F—f)R
y o= { 1;)0(12+r)=8m/s__ (5) el 5
E
(2) E, =BdV,—— (6) [, =—"——— (7) s 143
R+v7r
Py, =1°m-R—— (8) - 1%y
N B*d*V R
H (5) 7 (8) fF: Py, =———"5—=3W 14
(R+r)
: L'
(3) E'=BdV, |2—— (9) w-- 14 1= — (10
R+r

F'=Bld—— (1D



F,=F-F—f—— (12)

15H (9 ~ (12) 15

16, (1) (449 R LR ok T35 2l )
mﬁ=m§- ............ ®
BRI TR I N 2peg @
T D@ i 1 il
2

(2) 47 ERTIREANALIG, NA 25 =d
SIS FE T 37 BT RE 13 1) XIS T AR A

5 :lmf +l??'|:2r'1:l2 =2
2 4 8

2
a=25m/s" ... 145
d
—
0) p 4 -4
A“xﬁx
x % A
"l{ \’éﬁ.__
F Ko
P-;;;.—.—:'.‘.:,...,):... E
O I J
w\%;;g/
B

(3) (440) VULIPRIT RN Vo, BUBRARR ™, s B LA i
L0, P=8 I
o =8 W AT ®
2
BT RS g Beml @
7
Bd
B O@AME v, = —
msin &
RTFREIE BN BQ =  (1- cos 8) = 1‘_'30;5' d
sin
17. FEAKNCRAWTE, WHSEEEZRTE
RV, =PY, (14
V=2, (14
5
.-.P2=§P1=1.25><105Pa 24
wp=pP+2& 25
S
.m=0.5kg (37



